N = 0l & At & Ml A

A AL AE=Z M XI=2TH
A SERUHEHT S F Y|
©el: UL SAS X +sHES(XUALSELESA) (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
AT A ETH= 42,398,000 39,960,000 2,438,000
= 20,880,000
< 21,518,000
=2 TH Bt 42,398,000 39,960,000 2,438,000
= 20,880,000
< 21,518,000
ot 2tel Y Y =X AF | 42,398,000 39,960,000 2,438,000
= 20,880,000
< 21,518,000
oL SRS +=SSEB (X+AEEL S| H) 3,418,000 10,360, 000 A 6,942,000
HAXCIGHE B H =& 803,000 5,313,000 A 4,510,000
401 Al HIZ 201 bI 803,000 5,313,000 A 4,510,000
01 A& HI 800,000 5,300,000 A 4,500,000
OGtEEHAASREXN S 4 800,000
03 Al 2 THHI 3,000 13,000 A 10,000
OotdHAEX S &AL RUHI 3,000
SHEAEFH AR 2L 1,500,000 3,575,000 A 2,075,000
308 XX EHHSOIA 1,500,000 1,500,000 0
02 8+NTF= 1,500,000 1,500,000 0
OotdMEBE2E =13 3,000,000,000 «50% 1,500,000
StHEAE SRR 2e 434,000 1,434,000 A 1,000,000
308 XXM SOIA 434,000 434,000 0
01 IXNSHHBNEES 434,000 434,000 0
Lot ZAIE A B Z A 434,000
St PRFN 681,000 38,000 643,000
201 Let24d] 14,000 14,000 0
01 At 2teltl 14,000 14,000 0
Ogpt=2Hl 3,500
OctaZelfELSNHERAUS 3,500
O2ds¢ 10,500
Ostd e+ S 10,500
202 oddl 19,000 19,000 0
01 = LH o4 1l 19,000 19,000 0
XA S =8 19,000
203 ¥ S =&l 5,000 5,000 0
03 Al =AY 2= 5,000 5,000 0
OX=AEEESHE L= 5,000
801 GilHI bl 643,000 0 643,000
01 olldldl 643,000 0 643,000




A2 HES A= 2A PNESR=1\ )3
Hu: GlERl Y EH N S F Y|
S 2ol ESAS XN s (X =AILEESH) (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
| | RTEIE] 643,000
HEHTAFTOIMEHHINS (XSASELSAH) 38,980,000 29,600,000 9,380,000
= 20,880,000
& 18, 100,000
SSt =T AEHH ALY 11,000,000 3,000,000 8,000,000
= 11,000,000
403 XX SRS K20 & 11,000,000 3,000,000 8,000,000
= 11,000,000
01 XIS A=Z2E X 11,000,000 3,000,000 8,000,000
s HFTHI D EH ALY 11,000,000
= 11,000,000
A= AEY ALY 9,880,000 8,500,000 1,380,000
= 9,880,000
403 XX SRS K20 & 9,880,000 8,500,000 1,380,000
= 9,880,000
01 AXESHH=E2E X 9,880,000 8,500,000 1,380,000
G HFEHI A EH ALY 9,880,000
= 9,880,000
H=HIGEYASHR2=X 2,000 2,000 0
202 o4 | 2,000 2,000 0
01 2Ll 2,000 2,000 0
OHF=HX IS EHHAISE =& 0 B 2,000
AFHFHI| S ALY 12,122,000 10,511,000 1,611,000
403 XX SHHS K20 & 12,122,000 10,511,000 1,611,000
01 XIS A=Z2E X 12,122,000 10,511,000 1,611,000
JY=HF=HIAEH ALY 12,122,000
BEEAMEFHIA™Y ALY 5,976,000 7,587,000 A 1,611,000
403 XX SHHS K20l A 5,976,000 7,587,000 A 1,611,000
01 XIS A=2E X 5,976,000 7,587,000 A 1,611,000
OB MHFHI S EHH A 5,976,000




